
l;=g+= cfo lzif{ssf] ljj/0f  /sd ?= l;= g+= Joo tkm{ /sd ?= s}lkmot 

1 ;+3Lo ;/sf/sf] ;zt{f cg'bfg 104100000.0
1 rfn' tkm{ -;fdflhs ;'/Iff eQf ;d]t_ ? 51,000,000.0    

2 ;+3Lo ;/sf/sf] ljlto ;dfgLs/0f cg'bfg 91600000.0 s cfly{s ljsf; sfo{qmd tkm{ ? 7,669,496.0      

3 k|b]z ;/sf/sf] ljlto ;dfgLs/0f cg'bfg 3325000.0 v ;fdflhs ljsf; sfo{qmd tkm{ ?= 9,691,600.0      

4 k|b]z ;/sf/sf] /fh:j jfF8kmfF8 cg'bfg 12997680.0 u ef}lts k"jf{wf/ ljsf; sfo{qmd tkm{ ?= 74,320,000.0    

5 dfnkf]t /lhi6]zg jfkt 253416.0 3 jg jftfj/0f tyf ljkb\ Joj:yfkg sfo{qmd tkm{ ?= 1,179,000.0      

6 ufpFkflnsf cfGt/Ls cfDbfgL tyf cNof 30000000.0 ª ;'zf;g ;+:yfut ljsf; sfo{qmd tkm{ ?= 13,400,000.0    

8 ;fdflhs ;'/Iff cg'bfg 17000000.0
2 ljifout zfvf cGt{ut ;zt{ cg'bfg tkm{sf sfo{qmdx?M

9 k|b]z ;/sf/ ;;t{ If]qut k"hLut lgdf{0f 18300000.0 s lzIff tkm{ ?= 78,767,000.0     

10 k|b]z ;/sf/ -;j/L ;fwg s/ /fh:jf_ 2084000.0 v :jf:Yo tkm{ 20,036,000.0

u u|fld0f phf{ sfo{qmd tkm{ 1,353,000.0

3 s[lif tyf e]6g/L sfo{qmd tkm{ ?= 2,451,000.0     

ª jftfj/0f sfo{qmd tkm{ ?= 274,000.0      

r jg Joj:yfkg sfo{qmd tkm{ ?= 100,000.0      

5 jfnljsf; sfo{qmd tkm{ ?= 53,000.0       

h dlxnf ljsf; sfo{qmd tkm{ ?= 836,000.0       

em hg;xeflutf sfo{qmd tkm{ ?= 130,000.0       

` o'jf tyf v]ns'b sfo{qmd tkm{ ?= 100,000.0      

3 k|b]z ;/sf/af6 tf]lsPsf] of]hgfx?nfO{ k|fKt cg'bfg sfo{qmd tkm{ ?= 18,300,000.0     

cfo hDd ?=f 279660096.0 279660096.0

lg0f{o g++ ! o; l;lbª\jf ufpFkflnsfsf] nflu rfn' cf=j=  )&%÷)&^ df ;+3Lo dfldnf tyf ;fdfGo k|zf;g dGqfno ;fy} k|b]z ;/sf/af6 k|fKt ah]6 l;lnª cg';f/ lgDg adf]lhd 

cfo Joosf] vr{ lzif{s k|:tfj ul/ ah]6 ;Ldf lgwf{/0fsf] ljj/0f lgDg cg';f/ tof/ ul/ kfl/t ul/Psf] .

Joo hDdf ?=


